jpgogarten@gmail.com


This is the read.me.doc file for the histogramScripts

The data to be plotted as histogram should be in a file called indata

The first line of the file contains the name (no spaces allowed) that is given to the plots.  See the file pinvar and alpha for examples.  
!! the data to be plotted need to be in the same directory as the script in a file called indata!!

To run the program in batchmode, open a terminal window and move to the directory where the indata and the script is located.

At the commandline type 

> R CMD BATCH histogramScript_pdf.R
(don’t type the >)
The program should generate three files: histogramScript_pdf.Rout, plot1.pdf, and plot2.pdf

plot1.pdf contains a histogram of the original data.  You can change the number of breakpoints by changing the value for break in line n of the script (line 29).

The plot should look somewhat similar to this: 
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plot2.pdf contains a histogram of the normalized original data ((x-mean)/sigma) in red.  To see deviations from a normal distribution this is plotted in front of a histogram calculated for data with a normal distribution (mean=0, sigma=1) in green.  

Below this plot is another histogram that should help to gauge the effect of sample size in the apparent deviation from the normal distribution.  In this diagram both histograms are drawn from a normal distribution, the green is as in the previous plot from 10000 samples, the red histogram represents a sample size equal to the sample size in indata .

The plot should look somewhat like this: 
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or in case the data deviate from a normal distribution, like this:  

[image: image3.emf]Density

Density

0.5
T I

-0.1 0.2

0.5
T O

-0.1 0.2

Histogram of percent_identity

rnorm(1le+05)

Histogram of rnorm with size of percent_identity

rnorm(1le+05)









Histogram of percent_identity

rnorm(1e+05)

D

e

n

s

i

t

y

−4 −2 0 2 4

−

0

.

1

0

.

2

0

.

5

Histogram of rnorm with size of percent_identity
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To compare the distributions between the samples of different size, the density and not the frequency is chosen as y-axis.   Note: this might be helpful to find the appropriate data transformations (asin()(, or sqrt()) if you want to apply statistical tests that assume that the data a normally distributed. 

If you want to run the script in a more interactive fashion, and if you have GUI for R installed, you can run the script from inside R using the command 

> source ("histogramScript.R") 
or you can load the script into your editor (file, load), highlight the code you want to execute and press command <return> (at least that works on a Mac).

By default the script assumes an installed x11 graphics device, but you can change this by commenting and un-commenting the appropriate lines.  Note that if you create a pdf, you need to close the device before you can open the file.  

( arcsine is often used for data that are bounded on both sites, such as percent values. See � HYPERLINK "http://www.philender.com/courses/linearmodels/notes1/trans1.html" ��http://www.philender.com/courses/linearmodels/notes1/trans1.html� for more on this.  





